Opérations avec deux fractions mixtes (E)

Nom: Date: Note:

Calculez chaque résultat.

1 ng1%7=—><—= — = — = —

2 1%)(5% = — X— = — = — = —

3 5%x1%=—x—= — = — = —

4 5§+21—68=—+—= + = = — =
5 5§+1%=—+—= + = = — =
6 5§+2§ = —+— = + = = — =
7 5§+3%=———= X = = — =
8 5%—21—68=———= — = = — =
9 5%—31—58=———= — = = — =
10 5%—1% = ——-— = — = = — =
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Opérations avec deux fractions mixtes (E) Réponses

Nom: Date: Note:

Calculez chaque résultat.

Lslxql 52,18 936 104 _ (2
9 17 9 17 153 17 ~ 17
2 7 8 47 376 47 5
2 gX%3 = 5% T w® T 6 7%
sl 52,24 148416 o8
9 17 9 17 153 51 = 51
42 1 42 14 74

LsBanS oS3y 42 106 42 us 740

T8~ 18 9 9

6 .4 _ 41 18 _ 82 18 _ 100 _ 50

S I A v VL VI VI M
5 2 35 8 35 16 51 17
- 42— = —4 - = —44— = — = — = —
o gt 6 T3 6 7% 6 2 8
4 9 39 48 39 13 507 169 57
7. 5-+3= ==+ — = =X = = = 1—
77°13 ~ 7 713 7 748 ~ 336 112 112
2 6 17 42 102 42 60 10 1
8. 5—-— - 20—z —M—— == — —-— = — = — = 3-
3 °18 ~ 3 18 18 18 _ 18 3 3
1 .5 31 5 93 59 34 17
9 5-—- 3= —m—— = —mM—— = — = — = 1-
6 18 6 18 18 18 18 9
2 1 42 5 42 10 32 4
gl = g3 g g T -1 % ¢
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